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COMPULSORY ENGLISH

Text prescribed : A Pathway to Success
Editors - Ashok Chaskar
- Anand Kulkarni
Vijay Madage
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Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to right indicate full marks.

Q1) Answer one from A and one from B in about 150 words. [20]

A) 1)  What did Kalam’s father teach him about God?
i) Describe methods of conserving water with reference to C.V.
Raman’s “Water”: The Elixir for Life.

B) i)  Write a note on the points of falsehood in the advertising business?
i)  Explain humour in the story “The Gold Frame”.

02) Answer one from A and one from B in about 150 words. [20]
A) 1))  Why do Ivan Dmitrich and his wife oppose each other as the story
progresses?
i) How does Henry Derozio compare past and present in the poem
“The Harp of India”.

B) 1)  Describe the theme of “Money Madness”.
i)  You discuss with your friend how you can spend summer vacation.
Write your and his/her ideas in the form of a dialogue.
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03) Attempt any one from (A) and one from (B) in about 100 words each. [20]

04)

05)

A) 1))  Write a note on Indra Nooyi’s contribution to the company,
PepsiCo.
i)  Which evils were spread by Socialism in India?
B) i)  What is the writer’s attitude in the essay “Toasted English”.

i) How has bureaucracy affected qualitative development of India?
Attempt any one from A and one from B in about 150 words. [20]
A) 1)  Explain symbolism of woodrose creeper in the story “The

Woodrose”.
i)  Describe the relationship between Rakesh and his father in the story
“A Devoted Son”.
B) 1) Explain theme of the poem “Stopping by Woods on a Snowy
Evening”.
i) How will the experience of both joy and pain enlighten the poet in
“The Soul’s Prayer”.
A) Attempt any one of the following : [10]

i)  Your friend has won the first prize in the national level debating

competition. Write a letter congratulating him/her.

i) Write a brief newspaper report of two short paragraphs on the

following headline:
National Sports Meet to be held in Chennai, next week.
B) Attempt any one of the following : [10]

i)  There is a vacancy in HDFC Limited for the post of Sales Manager.

Write a resume for the post.
ii) Imagine that you are a librarian of your college and are supposed to

order books on general knowledge from Unique Academy, Mumbai.
Send your order at the e-mail address — uapmumbai@yahoo.com.

* * *
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ESSENTIAL OF E-COMMERCE
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  Question No. 1 is compulsory.
2) Solve any 5 questions from Q.No. 2 to Q.No. 8.
3)  Figures to the right indicate full marks.

Q1) What is E-Commerce? Explain its features and compare E-Commerce
Practices Vs Traditional practices. [20]

02) Explain E-Commerce in India and what are the legal, social & ethical issues

of E-Commerce. [16]
03) Explain in details, different types of E-Commerce. [16]
04) Explain E-Marketing, discuss various issues in E-marketing. [16]

05) What is Electronic Payment System? Explain its advantages &
disadvantages. [16]

06) What is E-Trading? Explain advantages & disadvantages of E-Trading. [16]
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07) Explain EDI model with diagram. Explain different application of EDI. [16]

08) Write Short Notes (Any two) : [16]
a) E-Signature.
b) Encryption.
c) E-Banking.

d) E-Ticketing.

* K *
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106 - E : BUSINESS ENVIRONMENT AND
ENTREPRENEURSHIP
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Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What s Parallel Economy? Explain in detail the causes and remedies of Parallel
Economy. [20]

02) Define the term Business environment. Describe in detail the inter - relationship

between Business Environment and Entrepreneur. [20]
OR
What do you mean by Entrepreneur? Describe in detail the competencies of
an Entrepreneur. [20]
03) a) Explain the habits of Entrepreneurs. [10]

b)  Write a detail note on Non - Government Organisations (NGOs). [10]

OR
a)  Write a detail note on Economic Development and Industrialization.[10]

b)  Write a detail note on District Industrial centre (DIC). [10]
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04) Write in detail the successful story of any entrepreneur from your region.[20]

05) Write short notes : (Any Two) : [20]
a) Dynamics of motivation.
b) Prevention of pollution.
c) Importance of entrepreneurship.

d) Opportunities in environment.

R R
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106 - E : BUSINESS ENVIRONMENT AND
ENTREPRENEURSHIP
(2013 - Pattern) (Optional)
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106 - F : FOUNDATION COURSE IN COMMERCE
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Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:
1) Question No.l is compulsory.
2) Answer any 5 out of question Nos. 2 to 8.
3)  Figures to the right indicate full marks.

Q1) What is business organisation? Describe the various forms of Business

organisation. [20]
Q2) a) Write short note on Co - operative sector. [8]
b) What is N.G.O.? What are advantages of N.G.O.? [8]

03) Explain in detail role and importance of trade, Commerce and Industry. [16]

04) a) State Role of SEBI. [8]

b)  Whatis the impact of opening of Insurance sector to private players.?[8]

05) What is commodity Exchange? Describe working and procedure followed in

commodity Exchange. [16]
06) a) Describe advantages of A.T.M. [8]
b) Describe importance of Logistics. [8]
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07) Write meaning of following terms (Any 8). [16]
a) SWOT analysis.
b) Recession.
c) Merger and Acquisition.
d) Internet Banking.
e) Hedging.
f)  Primary Market.
g) Seed Capital.
h)  Yellow Pages.
i)  Trade cycle.
) EXIM.

08) Write short note (any two). [16]
a) Labour policy of Government of India.
b) Malhotra committee Report.
c) Networking.
d) Business Ethics.

R R
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Text Book : Gems of English
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[Max. Marks :100

Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Attempt any ONE from (a) and ONE from (b) in about 150 words each.[20]

a) 1)
if)
b) 1)
it)

Discuss Wordsworth's attitude towards nature in "The World is
Too Much with us".

Why does Shiva say that the 'grow more wheat' package is not
suitable for Indian farmers?

What is Wouk's opinion about advertising?

Comment on the significance of the title of the poem 'Once Upon a
Time'.

02) Attempt any ONE from (a) and ONE from (b) in about 150 words each:|[20]

a) 1)
if)
b) )
if)

Describe the narrator's experience in the bank in 'My Financial
Career'.

Explain the options the traveller has, what is his dilemma in 'The
Road Not Taken'?

Bring out the significance of good manners in life according to J.C.
Hill.

How does "Where the Mind without Fear' achieve meaning in the
context of freedom struggle?

PTO.



03) Attempt any ONE from (a) and ONE from (b) in about 150 words each:[20]
a) 1) Comment on the central idea of the poem, "When We Two Parted'.
i) How did king describe the sufferings of the African Americans?.

b) 1)  What are the two instanees of good Indian films that Ray Cites?
Why does he think them praise worthy?.

i) Analyse Walt Whitman's use of language in the poem 'Gods'.

04) Attempt any ONE from (a) and ONE from (b) in about 150 words each:|[20]

a) 1) Examine Aruna Roy's evaluation of'the life of the poor, the depressed
and the underprivileged in India.

i)  Bring out the significance of imagery and symbolism in 'The Lotus'.

b) 1)  Howdoes Chitre deal with the theme of Man's estrangement from a
man - made world?

i)  What is the doctrine preached in the Gita? Why does Vivekananda
call it wonderful?

05) a) Attempt any ONE of the following in about 150 words. [10]
i)  Describe briefly Mangal Singh's situation.
i)  What is the central idea of "All the World's Stage"?
b) Attemptany FIVE of the following: [10]
i)  Give Synonyms of the following words:
1) select
2) love
i)  Give antonyms of the following words:
1) hard
2) lend
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d)

g)

Give verb forms of the following words:

i)  development

i) needy

Give full forms of the following:

) U.GC.

ii) S.B.L

Make a word each by using the following prefixes:
) un_
i) dis

Make adjectives of the following words:

i)  happiness

i) symbol

Make a word each by using the following suffixes:
) _ less

i1) ion

& B #
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iv) Si. T HIYeTeR IS A WRA hITedl Sl Ul Bl
ITehdl ?

V) UG geadail ShivmE TEUTATd ?
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57 4)

WTeATATdeh! SHITTEATE TR TeaTel 3w 50 vreara forer. [16]
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iii) . T\ AmRae A faEmdie T 9 §erlE Uerel WEtEent el
HTHTSEAT ?

iv) =i. g . aear gt wgfaew g argeama .
V) Ei. aTATS are Giedt ATHEdAT SUR heTfawdl g Td Hifgd! =@,
vi) E.TE. F. AT AT AT AT HIUTd g 2

TTATEUhT HIVTATE! g TeTet 3w 150 vregma fetar. [16]
i) . oW @] arean sfeauaTe fafay Ue] SenTga grEE.

i) AT WIAYTERT JTeAT MEA TATETRT o ScehWiel ATSaTd ATETaT T,
iii) <. TH %. T AIAATEEEA AIAER ATigdl forgT.

iv) @fem dgererten foheheeh armare el famior srefi ? ofigerama forar.

WTATeTdeh! SHITTE! 3 SeaTet 3w forgt. [16]

i) g aRERTde we - awean et dewia A, amEees aiearens
& .

ii) qHeAT HETETeTETa ATfveh UeTt STES-TEEHTd AT, T, uiier arferenwt
T gden A=t wue sfagw aam .
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ISR AT, UremaiETdt it aar &,

iv) uiferent AT ATfgdiaser a9R .
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T3 6)

&)

WTefieTdeh! TehT T9ATe 3T Torgl. [8]

i) wEIEEeET=a TATAATETS! Eiel TE HEar T8, ATErdt
sfer ffaer @ =+

i) Toraesit gl TaEE=aT HIATAATAT YT SgeTell AT, caTHaei=
Trees TR =L

Wreterdeh! Tt fawamer gausmaTet Sfdaeed . [8]

ii) =ievadt qaEeAr I WEHATHING g, Tas I TTa
g 15 =t srEr-

WTeteTUeh! ShITTETE 3118 UTRHTN® &3 forer. [8]
i)  Account vi) Advance

i) Pass Book vii) Finance Department

i) Deposit viii) Notification

iv) Balance sheet ix) Circular

v) Amount x) Office

. [8]

3 ARAUE e T GIUTAT FhTeal TUhIeiihe UTfget @ o
ST HTIEAT IEATE ot saraTa, o eTTessd. TR o HAAHT= ST
IEA ¢ T T, AHNTG IR gSad SATUUITETS! SSusun=an
YaeedT a-E YiHhgs ue FeEl 9 aeara. T a0 SATareTT
3Tad, a8 fehcreer foameruTdt g fAmtor grama. et weft afifeerdter
ue feeor TEa ATE. e SuedTen dreedia gy, e g
TIATA. U7 adiat Segl Ot simaeat fHEsuna st@d, degl ATIuT |uch
FreT=aT IR YT i amauaren TEe S haT. ST §d gt
gidet. (sreg@EAT - 92 )
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e
Nehru was not merely an Indian. He was citizen of the world. He
worked daily for peace at home and peace in the whole world. He had
much faith in the work of the united nations organisation. He belived that
all international disputes should be settled throught it. He also belived
that the whole world is a big family and peace is key to progress and

happiness. He was ready to go anywhere and do anything for world
peace. He made India strong and united.

R R
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FINANCIAL ACCOUNTING
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) A) Fillinthe blanks (Any 7): [7]
a) The process of distribution of cash on availability of cash is known
as distribution of cash.

(Gradually, Piecemeal, Slowly)

b) Any balance in the Profit and Loss account of the amalgamating
firm will be transferred to account of the partner.
(Revaluation A/c, Capital Account, Loan A/c)

c)  When their is conversion is required to be fixed in the first
instance.
(Value of assets, Purchase consideration, Value of goodwill)

d) Accounting system saves a lot of monotonous labour.
(Financial, Cost, Computerised)

e) As-9 deals with .
(Disclosure of Accounting policies, Revenue Recognition, Valuation

of inventories)

f)  The balance of shortworkings account is transferred to
(Royalty account, Trading account, P & L account)

PTO.



)

h)

The Higher purchaser charges depreciation on
(higher purchase price, cash price, lower of the two)

The cost of electric power should be apportioned over different
departments according to

(Horse power of motors, No. of light points, Horse power/Machine
Hours)

As per Garner Vs. Murray case the capital deficiency of insolvent
partner is transferred to other solvent partners in their ratio.
(Capital, Profit sharing, Equal)

B) State whether the following statements are ‘True’ or ‘False’ (Any 7).[7]

a)
b)

c)

d)

)

h)

[4863] Ext.-2

Partner’s loan if any are paid out before payment of outside liabilities.

When firms are amalgamated, Realisation accounts are prepared to
close the books of such firms.

Purchase consideration is the price paid by the limited company to
the firm.

Consistency refers to the ability of computers to perform a variety
of tasks, simple as well as complex.

As per AS-1, all significant policies should be disclosed in notes to
account which forms part of financial statement.

The minimum rent or Royalty whichever is more, is to be paid to
the landlord.

In case the rate of interest is not given, interest is divided equally
over the higher purchase instalment.

The fire insurance on building is allocated on the basis of floor area
occupied by each department.

Maximum loss method is also known as Proportionate Capital
Method.



C) Write short notes on (Any Two) : [16]
a) Scope and Importance of Accounting Standards.
b) Objectives of Conversion.
c) Basis of Allocation and Apportionment of departmental expenses.
d) Significance of computerised accounting system.

02) Roma, Mona and Sona are carrying on business in partnership sharing Profits
& Losses equally. They decided to dissolve the firm on 31-12-2014. Following

was their Balance Sheet as on that date. [20]
Balance Sheet
Liabilities Rs. Assets Rs.
Creditors 30,000 Fixed Assets 65,000
General Reserve 30,000 Current Assets 40,000
Capital accounts : Cash in hand 20,000
Roma 30,000
Mona 10,000
Sona 20,000
Income-tax 5,000
1,25,000 1,25,000

It was agreed that after keeping aside Rs. 2,000 for Estimated Realisation
Expenses, the available cash should be distributed amongst various parties
as and when realised.

The assets were realised in the following instalments :-
on 31% Jan., 2015 Rs. 17,300
on 28" Feb., 2015  Rs. 29,700
on 20" Mar., 2015  Rs. 27,000

The actual realisation expenses amounted to Rs. 1,400 only.

You are required to prepare statement showing distribution of cash by using
Garner Vs Murray’s case under maximum loss method.

OR

[4863] Ext.-2 3



Following was the Balance Sheet of M/s A, B and C as on 31% March, 2014
Balance Sheet as on 31% March, 2014

Liabilities Rs. Assets Rs.

Capital Accounts : Land 40,000

A 20,000 Machinery 25,000

B 30,000 Stock 17,000

C 40,000 Debtors 22,000

Creditors 20,000 Investments 13,000

Bills Payable 6,000 Cash 2,000
Reserve Fund 3,000

1,19,000 1,19,000

The Partnership firm was converted into X Ltd, who took the following
assets at the values stated below :

Assets Rs.
Land 50,000
Machinery 20,000
Stock 15,000
Debtors 15,000
Investments 10,000
Goodwill 14,000

The firm paid the Creditors at 95% in full settlement and Bills Payable at
100%. The realization expenses paid by the firm Rs. 2,000. X Ltd. paid
Rs. 99,000 in Equity shares of Rs. 10 each and the balance in cash.

Prepare necessary ledger accounts to close the books of the firm and
prepare a Balance Sheet of X Ltd. as on 1 April, 2014, assuming that partners
are sharing profit & losses equally.

03) A) Following were the Balance Sheets of M/s Black and White & M/s Green
and Blue as on 31 March, 2014. [10]

[4863] Ext.-2 4



Liabilities B&W| G&B Assets B&W | G&B
Rs. Rs. Rs. Rs.
Creditors 25,000( 30,000| Building -| 42,000
Mrs. Black’s loan| 10,000 -| Plant & Machinery | 40,000 | 25,000
Bills Payable - 9,000 Furniture 10,000 8,000
O/S Salaries 1,000 900| Patterns & Moulds| 3,000 5,000
Capital A/cs Stock 20,000 [ 15,000
Black 36,000 -| Debtors 12,000 | 11,000
White 18,000 -| Cash in hand 5,000 | 3,900
Green -| 40,000
Blue -1 30,000
90,000 [1,09,900 90,000 {1,09,900

Black & White were sharing profits in the ratio of 2:1 and Green & Blue

were
on th

a)
b)
c)

d)
e)

f)

)

sharing profits in the ratio of 3:2. The two firms were amalgamated
e following grounds :-

Outstanding salaries were paid by the old firms.

Furniture of both the firms were not to be taken over by new firm.
Black & White sold their furniture for Rs. 12,000 and Green &
Blue sold their furniture for Rs. 7,000.

Patterns and Moulds of both the firms were not taken over by the
new firm & distributed in profit sharing ratio.

Building was valued at Rs.45,000

Stock of Black & White was undervalued by Rs. 2,000 but stock
of Green & Blue was overvalued by Rs. 3,000.

Debtors of B&W include bad debts of Rs. 2,000. Debtors were
taken by the new firm subject to 5% reserve for doubtful debts.
Mr. Black agreed to pay off Mrs. Black’s loan.

Prepare Profit & Loss Adjustment A/c and partner’s Capital A/cs
in the books of both the firms.

B) Gayatree Coal Ltd. obtained a lease of coal mine on 1% January, 2010

with

aroyalty of 50 paise per tonne; with a minimum rent of Rs. 10,000

per annum. The short workings over the actual royalties can be recovered
during the subsequent two years. [20]

The output from the coal mine was as follows :

2010
2011
2012
2013
2014

Pass
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— 8,000 tonnes

— 20,000 tonnes
— 35,000 tonnes
— 12,000 tonnes
— 26,000 tonnes

the necessary Journal Entries & give the necessary workings.



Q04) From the following Trial Balance prepare Departmental Trading and Profit &
Loss Account for the year ended 315 March, 2014 and Balance Sheet as on

that date of Asha Bazar, Bhosari. [20]
Trial Balance as on 31st March, 2014
Particulars Debit Credit
Rs. Rs.
Capital - 30,000
General Reserve - 20,000
Stock as on 1-4-2013
Dept. X 29,500 -
Dept. Y 26,000 -
Purchases
Dept. X 50,000 -
Dept. Y 30,000 -
Wages
Dept. X 12,000 -
Dept. Y 10,000 -
Carriage and Freight 800 -
Salaries 20,000 -
Travelling Expenses 1,500 -
Rates & Taxes 6,000 -
Insurance 10,500 -
Sales
Dept. X - 1,20,000
Dept. Y - 80,000
Sundry Debtors & Creditors 12,500 7,500
Bills Receivable and Payable 2,500 2,000
Manager’s salaries 5,000 -
Premises 14,000 -
Printing & Stationery 500 -
Discount 1,000 -
Advertising 3,500 -
Plant and Machinery 15,500 -
Furniture 500 -
Fuel & Water 1,750 -
Incidental Expenses 450 -
Cash in hand 1,200 -
Cash at Bank 4,800 -
2,59,500 | 2,59,500
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Following additional information is also provided.

a)
b)
c)
d)
e)
f)

g)
h)

Stock as on 31-3-2014 Dept.- X Rs. 20,000 Dept.- Y Rs. 15,000.

Provide for doubtful debts @ 5% on Sundry Debtors.

Wages outstanding Dept.- X Rs. 600 and Dept.- Y Rs. 400.

Salaries outstanding Rs. 4,000.

Rates and Taxes prepaid Rs. 1,500.

Provide depreciation on Plant & Machinery @ 10% p.a.

Value of services amounting to Rs. 100 are rendered by Dept.- X to Dept.- Y.

All unallocated expenses are to be apportioned on the basis of sales.
OR

The Madras Transport company purchased a lorry on instalment basis. On
1% January, 2011; paying Rs. 20,000 cash and agreeing to pay three further
instalments of Rs. 20,000 each on 31 December each year. The cash price
of the lorry was Rs. 74,500 and lorry company charges interest at 5% p.a.
The Madras Transport company charges depreciation at 10% p.a. on cash
value of the lorry on diminishing balance method.

Prepare Lorry Account, Interest Suspense Account, Lorry Company Account
and Interest Account in the books of Madras Transport Company.

* K *
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Total No. of Questions : 6] SEAT No. :

P1017 [Total No. of Pages : 4
[4863] Ext. - 20
F.Y.B.Com. (External)
HINDI (Additional)
(2013 Pattern)
qIeagEh ¢ - 1) TEARES - HUEew - B, GHTT qae
2) ug ufeTet - HOTGeh — ST, GWTH debert
dz :3 gu] [ qurtes : 100
geare — 1) @t go sfard §
2) gIfEAt s ferg wvT quiies &/

gy7l) ) Trafafaa @ @ et v 99 1 s foaw & forfau: [10]
i) I AU T & fore safem 7w | on fir smavaear g
ii) ‘OT SIR gA g ok SMUR W AW i JTEdt T quiA i)

ar) fafaRaa @ & fordt v g9 &1 s fomaw @ faRau: [10]
i) hfa giesiia St 3 U g8 T ISTE0T TR AN Rl ST TIATEA
fem g?

ii) ohfa Uehia sfameaa 3 T 6l TSTE HEAT F1 ATIYAH T 8 ?

gy72) TAfeaRaa # & faedt o9 a9at & I "o 7 fofem : [18]
i) TS A TEwE FT AT ¢ 7 UET WILEa Y N hEd @ ¢
i) gfear I wram | @ R RAE Tk HN?
iii) @ ¥ Wl A BT HAAT FAT TeRar an?
iv) eTemEsT W |ie W e i ?
v) ufd % Jeg W TET HIaH W1 S gl argd ?

PTO.



gy73) TretaRaa @ & foregt @ ToAT W I He™ | o ¢ [18]
i) gEt e & g weEd g7
ii) ‘“omelT wa e hfaar § whiET dew fea 27
iii) ‘gare’ wioer § wHyHR AT 9k TR F FAT R 8 ?
iv) ‘T3S A T i W hidr Shi hIch! T hedl € ?
v) ‘Agsar hfear ®§ WeRfa o weror w37

g7 4) 1) TrafaRaa @ @ fhet g sraawon 6 gEey e ik [10]
) e =rEn A e sraent g fent)”
ii) ‘3N, T AT W I WS HE?

iii) ‘A WIS A, G TA1S AZ AT hIA g ? HEl AT ¢ ? Ag W7
w2 ? oW = wet e man E27

o) Frfafen # & et @t sraaont H wEgy saren fifvw [10]
i) “FA FE T g,
# T At T
ET h{dl Ul — Ul WX
W S d |JEn’
i) ‘= wem g e, s 7 sisy
TeeR WY g1 AT g | <o wa sitgu)’
iii) ‘“‘uer sfwr AT diem s & foru
St T, aitg 3 e o T R
Y ame Y W T & forg
Ut 3R 9 3R o =nfeu)’’
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3) TrafefRaa @ o foredt aie a9l & U - U 9o ® S ferfau [5]
) wresisht e fead 22
i) ‘TR Y Sa’ wEET % U HiA g2
iii) orremd St Y 3w w@T ot ?
iv) it gl hTH il o ?
v) ‘g’ whfear % wia wH 22
vi) ‘B e’ wiaar # wafe e wneft o 2 ?
vii) #gs % fre TR % gra Bd 27
viii) st w1 e fra wew T =TT ?

g7 5)) Frefafaa 4 @ fordt aiw et & & arfenfyes wisg forfau - [5]
1)  Audit -
i) Budget -
ii1) Discount -
iv) File -
v) Marketing-
vi) Penalty -
vii) Receipt -
viii) Verification -

an) fFafeifaa @ @ foret Tes fomTum &1 STTeRYs AT QAR I ¢ [5]

i) wUET % A HT NS AT
ii) TEET A 1 SN T

[4863]Ext. - 20 -3-



3) fmafaRean af=se =0 v g arees (Femn) fofeu - [4]

T 6t Rrsmen, ygin o wAReE, e & awame ot getred
Frn 81 301 - Fordolt § ymor A & g SrgyA Uepfaes gvdl W FEd §)
gl T el veia @ fhrerd § A wEt orerg anR e o fews qar
B1 8 R T R I ¥ H TRt Helt I PRI et § | WTehfeieh gvat
o SAfaiiar HYHR Y HANTT I HHUT FATRAT FFa3 § HATR <hl UgTiear,
gt T FITHHAR, AT 1 AAAGA, @S HT TA F1ST TS Y
M HAATA §1 @ Tehd 2| TaQoml T WHUT S ATt Uieanl &l &l
farfir= ot ergya Twgatt @t T@A 1 WWT UTH gar | 39 YRR S9Ied
TR 1 ¥t STcia Wgeaqul ate g

3) fafaRaa & @ fredt v o @1 uew daw i [5]

i) /A e, 105 TIHIER,GAT § U FATREal i,
AT ok ATH Eet sreamueh ue & foru srmaea um forman/ feraedt
2l

ii) ot/ HATaT GUgE, THEhS W, HEHER W, YUk, HEWY e,
TR VAT STEHEATR o A0 Fod @Al Wieid hi SIafd qiran
/=t g8 /3o uat forean / forardt €1

R R
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Total No. of Questions : 5] SEAT No. :

P1018 [Total No. of Pages : 2
[4863]Ext. - 23

EF.Y. B.Com.
URDU (General - I)
1) Text : Mazameen - e - Mujtaba Hussain
2) Poetry : Bang - e - Dara)
(2013 Pattern)

Time :3 Hours] [Max. Marks :100
Instructions to the candidates:

1) Attempt to all questions.
2)  Figures to the left indicate full marks.

oF ok =) | ZE Y (S
U587 dins) e etz ) st ?cgg,w; Lo
i b

i

[ /4] g_ﬁ-);é%/__;)@;’)/'&f;/aj(j &(/_"}.ﬁy}/ P

(153 DIl s Clagh il S

Bl 51 R
) ) __’E,Jfféu ;_*:,/s L=/
(o] 7 R s B
gy DG @) 1VipL ohomes & o ;gca/ LA N
[ 19 RE e 7 el
[ 1] ‘;/fg/:"«d Ldiay e s ey £ i

jC/?!'of Oz é&-@y/a/ Fet b Ly
s L Bt ) z./-m/(v/ N
A A =) (&
N L i
25—:")” f?_é/j(OJ)u,{v‘__éP/
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L g g T
/ '*’LMJ/M/U,J(;’L./}M’&

}//)/L/w""//()‘(/j&: —d
27} ///’d iy "~

(y,u;z:f_-u,«’frr‘w
L/w//(f—/,f oL

4 gﬁf 2] ) os 01/6;/, o iy
e P Rl
6.! //H/J —-
0"0; LA’ S &f,j’/}/

/,L/"(;//‘o"’(j‘/df b=~

G;,’j’é‘! p T 577!
\M/(x;’/}j}j/bo

—Q

@ = ﬂ?d[’@/ﬂ?&ﬁ &
R C R AL, ﬁ/d" i O
iu///owu/m{&f) ce &

/"C"'L/@ L/’”U‘“fv @ J—/”UU’//}) L._..A/"’/} D
o, R
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Total No. of Questions : 5] SEAT No. :

P1019 [Total No. of Pages : 2
[4863]Ext. - 24
EY. B.Com. (External)
PERSIAN (General Paper)
A) Poetry & Grammar
B) Prose
(2013 Pattern)

Time :3 Hours] [Max. Marks :100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Account for the popularity of Umar khayyam. [20]
OR

Write a note on poetic Art of Behar

02) Explain the life sketch & literary trends of Mulla Husain Wais Kashfi.  [20]
OR
Explain Shaikh Saadi "about Ghulstan".

03) a) Define any two of the following. [10]
-' o Sl o cw®
J 2 A |
b) Reproduce in your own words of any one of. the following [10]

AR AR Ve
W o () S Ao w ) L Goof 1

04) a) Explainany five couplets of the following into English, Urdu or Marathi,
Persian [10]

‘I ))\5"1’,}'/‘,««"’,/ (j)fd"“/}d/,d'ob; (<2
P o) o oA [

= ,u/’ /)/"
e @—f’/«/d ~ ‘/JJ /j/ijr//"]////// o>
%:Jdﬁb Z,//u‘”'; /’")///A(}’cf
W—V(/O’ruf;-fn?q@ QW/’ &>

e
v/‘l“////(/‘/gﬂf‘/ o oY

PTO.



- >
. A NP
o5 s o Lol o b Tot s L1«

Lis o tols o Sio e _iE = & (il it <
b) Translate any two of the following passage into English, Urdu, Marathi
or Persian. [10]

L é‘ié«’ cr”
2 ))) 0/‘//‘/ L l’/> »")[»U—" L!\'/ G;ru )Jy;.,/
Y uy L S oot

)
St )}‘/Opj/:;j.

o/““/-zu/‘ G ) ) 2 0275 -
O N> 5o o s’ L L/L«)/dé Ny

A f ol )/&/i oA ol &/Jﬂé, MJ/:;(;)
S -
)/77u1/jufj) )W/U’d/vfj ouel u, "’J/ “::"/ o

i///o/w// ~ U
AR v Fl e
/;{/(JLU/ f/J’f/ J&Jb//) )/U(ﬂ////'u“""// J// -
Y L./(J}jf \/////(}/"'—/”/ z

J
J///,/(////J//lvfﬂtf//’// g LS

05) a) Define and Illustrate any five of the following. [10]

(@
<lBdhce ,,Jw) /; o oy Ud’(f (P ()’/’bu"/
B (},\L—UQ)_) <) /}/J/o/‘ C v

b) Translate the following Unseen English passage. into persian, Urdu, or
Marathi. [10]

Education should aim of the development of the active tendencies of the
child. Self experession is creative in Nature and should be organised
through varian forms of Art music dramatics hand work Tegore held that
through learning a handi craft one's mind is also strengthened childern
react to stimulation with their whole body and mind.

& & &

[4863]Ext. - 24 5



Total No. of Questions : 6] SEAT No. :
P1977

[Total No. of Pages : 4
[4863]Ext. - 25

F.Y.B.Com.
FRENCH (External)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Use of dictionary is not allowed.

3) All questions have to be answered in French unless indicated otherwise.

Q1 Complétez le dialogue suivant (UN AU CHOIX): [15]
A. M. Masson va dans une agence de publicité pour faire la publicité de son agence de
voyages. Il discute avec le webmestre.
M. Masson:  Bonjour. Nous devons faire la de la publicité pour nos voyages.

5
Le webmestre : Un e-mail commercial?

M. Masson: C’est une bonne idée. y

Le webmestre: Je vois une page avec des photos des destinations en promotion .

M. Masson: ?
Le webmestre: Oui, le nom du pays et le prix du voyage.

M. Masson:  C’est super. ?

Le webmestre: Oui, on peut mettre des rubriques spécifiques, comme “I’hétel”, “vol™. ..

M. Masson: Parfait! ?

Le webmestre: En haut de la page.

ou
B. Mille Pilat et M Dupuis vont au restaurant, “Majoral™. Ils ont une réservation. Ils
commandent le Menu Trio avec la salade "César’ comme entrée, steak tartare avec des
frites comme plat principal et une tarte aux pommes comme dessert. Ils prennent le vin
rouge et une bouteille d’eau.

M. Dupuis : Bonjour monsieur, nous avons une table réservée au nom de Dupuis.
Le serveur : Oui, monsieur, c’est par la.

()

Le serveur: Vous avez choisi?
Mlle Pilat:  Nous prendrons -
Le serveur: Et comme plat principal?
M. Dupuis:
Le serveur: Et comme gamiture?
Mille Pilat:
Le serveur: Et pour le dessert?
M. Dupuis:
Le serveur:  Et pour boire?
M. Pilat:
Le serveur: C’est noté.

P.T.O.



Q2. Grammaire et vocabulaire

Mettez au pluriel (6]
Le passager réserve le billet pour le voyage.

La directrice remercie I"employé.

J"aime bien le plateau-repas.

i e ol

B. Donnez le féminin du mot souligné: 2]
Le directeur anglais parle bien le frangais.

C.  Donnez le contraire du mot souligné: 2]
1. IIs partent demain.

2. Elles achétent le savon de Marseille.

D. Complétez avec de,du, de la, de ', des: (2]
1. Les clients vont voir le prix__ voyage.

2. M Rousseau consulte les dossiers clients.

E. Complétez avec 4, au, ala, 1", aux; 2]
1. Noussommes _ hdtel.

2. M. Mammontparle délégués.

F. Complétez avec des adjectifs démonstratifs: 3]
I. ___entreprise se situe & Rennes.

2. appartement estau quatriéme étage.

3. Lamaisondonnesur _ rue.

G. Complétez avec des adjectifs possessifs: [3]
l. Sylvietéléphonea  mére.

2. M. Beauchaisadeux filles. __filles sont ingénieurs.

3. Ledirecteur donne des instructionsa __ secrétaire.

H.  Choisissez la bonne réponse: [3]
I Les clients demandent/demandes 1’ addition.

2. Tuvient/viens de |’ Australie.
3. Il faites/ fait la cuisine.

I Mettez les verbes entre parenthéses au temps donné; 3]
1. Les clients (arriver — passé composé) le 16 décembre.

2. Ledirecteur général (diriger - présent) 'ensemble des activités de I"entreprise.

3. Leréceptionniste (faire - futur proche) les réservations.

[4863]Ext. - 25 2



Q3.

Q4.

w b —_—

=

G2 B — 2

bt o J ol

Trouvez I'objet direct:
L’hotesse sert les repas.

Le directeur finit son travail.
Vous apportez la carte, s’il vous plait?

Complétez le texte suivant avec les mots donnés ci-dessous:
(pourboire, paye, couvert , mais)

En France, on ne pas le pain et le . Le service est compris on peut

laisser un

Dites vrai ou faux:

Le personnel peut prendre ses repas dans les bureaux.

Un certificat médical est obligatoire en cas de maladie ou d’accident.
Les grandes entreprises ont de 100 a 240 employés.

Ecrivez en mots:

)71 2)98. 3)46

Quelle heure est-il?:
20h45

13h30

5h15

Répondez aux questions suivantes (3 au choix):
Nommez deux types de restaurants en France.
Quel est votre plat favori?

Nommez une entreprise de votre pays.
Nommez une entreprise frangaise.

Reliez les deux colonnes
A B.
a. Un boucher 1.existe depuis 50 ans
b. Une compagnie 2. vend des fleurs
¢. Le savon de Marseille 3. une bouchére
d.Un fleuriste 4, maritime

Ecrivez en forme de paragraphe:

Décrivez le processus de fabrication des boites de conserves de petits pois. Utilisez les
mots suivants: laver, remplir, fermer, stériliser, refroidir, envoyer, des cartons, des

distributeurs.
Pour cela utilisez les mots connecteurs — d’abord, puis, apres, avec, dans...

ou

[4863]Ext. - 25 3
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B. Voici I'organigramme de ’entreprise GSA.

Directeur General -
M. Roger Rabat

Assistante - Regine

Mariot '
| |
Responsable Responsable de
Re_s;éohnrsi?z:i) ;i(]l;z vg:tles marketting - Jean I'administration des
P Chardonnay ventes - Max Giroudet
L 7 assistants . ; L
commerciaux 2 chefs de produits 2 assistantes
Q.5. A. Traduisez en anglais: [10]

Usage des locaux et du matériel de I"entreprise
Sauf autorisation exceptionnelle les locaux et le matériel de [I'entreprise sont
exclusivement réservés aux activités professionnelles. Il est interdit d’emporter a I"extérieur
de I’entreprise des objets et produits qui appartiennent & I’entreprise.
Les salariés doivent conserver en bon état le matériel qu’ils utilisent pour leur travail.

B. Traduisez en frangais (5 au choix): [10]
It is prohibited to smake in the enterprise.

L.
2. She is very organized.
3. We have a range of 400 products.
4. They offered to do an exchange.
5. You have 5 weeks of paid leave.
6. First, I choose a salad.

Q.6 Compréhension de texte:

Quand vous étes invité chez des Frangais, vous arrivez avec un léger retard de 102 15
minutes pour laisser le temps a votre hote/hotesse d’étre prét(e). On n’enleve pas ses
chaussures. Quand vous arrivez, vous offrez un petit cadeau comme des fleurs ou une
bouteille de vin. Au repas, |"homme le plus important est i la droite de 'hotesse et la
femme la plus importante est a la droite de 1'héte. Par politesse, on accepte de gouter les
plats.

A. Dites vrai ou faux: [3]
1. Vous choisissez votre place a table.

2. Vous refusez de manger un plat quand vous n’aimez pas.

3. Vous arrivez avec un léger retard.

B. Trouvez le contraire de “a gauche’ dans le texte. [1]
C. Donnez l'infinitif de ‘offrez’. [1]

SISIS
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Total No. of Questions : 5] SEAT No. :
P1020 [Total No. of Pages : 4
[4863] Ext. - 26
F.Y. B.Com.
GERMAN (Basic)
(2013 Pattern) (External)
Time :3 Hours] [Max. Marks :100

Instructions to the candidates:

1) All questions are compulsory.

2)  Use of dictionary is not allowed.

Frage L. Ubersetzen Sie! 115]

(A)yUbersetzen Sie ins Englische! {10

Mein Name ist Denise. Meine Freundin heiBit Iris. Wie gehen jeden Nachmittag spazieren
oder in Geschafte Am Wachenende cehen wir ins Kino oder in die Disko. Tris spielt auch
Tennis. aber ich mag keinen Sport. Ich sammie alte Fotos. Auf vielen Fotos sind meine
GroReltern mit meinen Eltern. Meine Eltern sind da noch Babys oder kleine Kinder.

Mein Bruder ist 12 Jahre alt. Er spielt oft Computerspiele und hort gern Musik Im
Sommer gehen wir mit meinem Vater ins Schwimmbad Das macht Spaf. Manchmal

kommt auch Mark mit. Im Winter spielt er lieber FuBball.

(B) [bersetzen Sie ins Deutsche! (Nur 5§) (0%)
t Paul has already written the letter.
2 1don't have a car, but I have a bicvele.
3 You are not allowed to smoke here.
4 1 eat salad with olive oil.
5 He is going to the doctor
6  Please close the door, Bella'
Frage 1. 20]
(A)Beantworten Sie die folgenden Fragen! (Nur 5) (10)
I Beschreiben Sie Thre Wohnung!
2. Was darf man im Unterricht nicht machen?
3 thr Vater liest Biicher gern. Was alles konnen Sie thm zum Geburtstag schenken”
4. Was machen Sie in der Freizeit?
5. Was haben Sie am Wochenende gemacht?
6. Warum lernen Sie Deutsch?
7 Sie machen eine Reise nach Deutschland. Was brauchen Sie?

PTO.



{B)Schreiben Sie! (05)
Sie haben im Mai eine Reise durch Osterreich gemacht. Schreiben Sie eine E-Mail an

lhre Freundin und beschreiben Sie thre Reise!

(C)Schreiben Sie einen Dialog! (05}
. Sie mochten heute Abend mit Johann essen gehen Rufen Sie thn an!
ODER

Sie mochten mit Threm Freund schwimmen gehen. Aber heute Abend haben Sie keine

1

Zeit. Rufen sie thn an!

Frage [IL. Grammatik [35])
{A)Erginzen Sie die richtigen Personalpronomen! (05)
1 Das Klavier ist neu. Ich méchte mcht verkaufen

2. Das st ein Rasierapparat. Holger braucht

3. Die GroBimutter ist krank. Das Madchen bringt __eine Suppe.

4 Der Pfarrer hat etnen Hut gewonnen. gefallt der Hut nicht

5 Dasind die Kartoffetn. Ich habe  schon gewaschen.
(B) Erginzen Sie die richtigen Possessivpronomen! (05)
1. Erhat  Fihrerschein gemacht. Jetzt darf er ein Auro fahren
2 Gregorhat  Regenschirm vergessen Er holt thn morgen
3. Die Lehrerin findet  Bucher nicht. Sie sind nichtin ~ Regal
4 Anna und Sabine sind gute Freundinnen. Anna hilt = Freundin ber den
Hausaufuaben.
5. Das Madchenistmit ~ Prifung fertig. Es hat jetzt Ferien.
(C)Erginzen Sie die richtigen bestimmten/unbestimmten Artikel! (05)
I Der Arzt lft __ Fotografin. Sie kann nicht gehen.
2. Inder Kuche brauchen wir _ Kithlschrankund ~ Herd.
3. Ichhabe  Zigarette aberich brauche  Feuerzeug
(D)Schreiben Sie das richtige Modalverb! {05)
i Ich ~~  eine Pizze essen
2 _ Sie Englisch oder Spanisch?
3. Die Kinder ~im Klassenzimmer mcht spielen. Sie draufien

spielen,
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4

Ste  ketnen Hund haben Sie hat schon eine Katze.

(E) Formulieren Sie die Siitze ins Imperativ um!

1

1

(¥

4
5

Kaufi ihr bitte Getranke ein”

Nehmen Sie bitte die Glaser aus dem Regal.
Konnen Sie bitte morgen anrufen?

Kannst du bitte das Bild an die Wand hingen®
Holst du bitte die Milch?

(F) Bilden Sie das Perfekt!

2

o2

LA

Die Kinder lesen das Buch.

Bertolt ruft mich spiter an.

Am Wochenende spielen wir Tennis.
Fahrst Gu am Sonntag nach Hamburg”

Herr Bernini schreibt eine Ansichtskarte.

{G)Bilden Sie Fragen!

I.

_[J

3.
4
5

Frage IV.

Neine, ich habe keine Geschwister

Dic Puppe steht auf dem Tisch.

Die Reise nach Hannover dauert 4 Stunden
Der Junge hiangt das Bild an die Wand.

Mein Bruder will in Bremen studieren

Wortschatz

{A) Was passt nicht?

A A

+

hestellen: eine Pizza - einen Moment - Mineralwasser - Blumen
weeken das Kind - die Puppe - den Hund - das Madchen

micten: einen Wagen — ein Haus — eine Region — ein Fahrrad

lesen. einen Satz — eine Ansichtskarte - eine [nformation - einen Nagel
hezahien- die Steuern — das Wetter — viel Geld - 20 Euro

(B)Schreiben Sie das richtice Wort!

[

19

[P¥]

Meine o 1st Amalienstrafle 21, D-1196 Berlin.

Sie kommt aus Japan Thre Muttersprache ist

Ich habe ~Ich mochte etwas essen.

Heute ist Mittwoch. Morgen ist

Wien ist die von Osterreich.

[4863]Ext. -26 3
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(C)Schreiben Sie mindestens 4 Worter pro Thema! (10)

1. Reisen 2. Lebensmittel 3. Alltag 4 Camping 5. Wohnung

Frage V. Lesen Sie den Text und beantworten Sie die folgenden Fragen! 1o}

Nach dem Kindergarten gehen alle Kinder im Alter von sechs oder sieben Jahren in die
Grundschule. Dort bleiben sie vier Jahre. Dann gehen 45% auf die Hauptschule und studieren
fiunt Jahre weiter. 25 % Schiler gehen auf die Realschule (sechs Jahre lang) und 30 % auf das
Gymnasium {neun Jahre lang) In einigen Bundeslandern gibt es auch Gesamtschulen. d.h. ab 5.
Klasse sind drei Schultypen in einer Schule oder einem Schulzentrum zusammen.
Nach der Hauptschule kann man arbeiten und Geld verdienen oder eine Lehre machen und
aleichzeitig in die Berufsschule gehen Nach der Realschule machen viele eine Ausbildung als
kauimann. ber der Bank oder in techmischen Berufen. Nach dem Abitur kann man emen Berut
lernen oder an der Universitat studieren. Fast alle Schulen sind 6ffentlich und kostenlos.
Dominik geht auf das Gvmnasium Er ist 14 Jahre alt. Nachstes Jahr macht er die Abitur. Dann
will er an der Universitat weiter studieren. Er mochte Philosophie studieren. Er lernt auch
Sprachen gern Er kann Deutsch, English. ltalienisch und Russisch. Sein Bruder ist 12 Jahre alt
und geht auf das Realschule.

(A) Beantworten Sie die folgenden Fragen! {03)

1. Wie lange dauert die Hauptschule”

b2

Was kann man nach der Hauptschule machen?
Was mochte Dominik nach dem Abitur machen”
(B) Richtig oder Falsch? (04)

(5]

I. Es gibt vier Schultypen in einem Schulzentrum.

2. Nach dem Abitur kann man Philosophie studieren
3. Donunk ist dlter als sein Bruder.

1 Dominik machte spiter Sprachen lernen

(€} Suchen Sie sechs Zahlen aus dem Text! (03)

R R
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Total No. of Questions : 5] SEAT No. :

P1021 [Total No. of Pages : 3
[4863] Ext. - 27
F. Y. B. Com.
SANSKRIT

STHTHTAT

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Q1) Translate into English or Marathi any two from section 'A' and any two

from section 'B'. [20]
geteruehl ‘31 faumTTdie ivteTdl gee 9 a ATl vt grE wsa

SECTION - 'A' (Rrwmr - ‘ar’)

i) wfeue uTed, aUT 9% STIEY Wi, Heem: Uid Ugeast Ui, T Jfd
T STTEL: TA-AATAT: Thl IHEATEh TIFATGIEA o I=T: HTEIN: IR AT | T
Eiehea A9 UTeH WRAET IYATET:UhdTal: EUSAaTS T80T STeJuuTaet
YRUT &, q9ET WU, HATEd Wi AAATAAT &, ARG TS ARTRERIOM
HAsd Wl |

i) oTeTEl WEUTd : G UfTg 39 AT AT AeeTUTIe qTedd Ty — 38T
FTAATHS TESTEUE WUl et AT TaBTd, I8 8 i | AL A g fehaeas
Feomame Tresr TesTeHuE e Geugsa sterstgh: | 1T | HehuT: AT

THETd Ut ;o Aeefawiivht § aermesamrtar ddun samatear =)
iii) W W U ATHWHWET T gAedl 7 gaed:|l A @e 7 @e qun:
wTfaTEsaRTeE g g g taatta: |

¥ = FABmfumr asEm: w1

PT.O.



SECTION - B (fwmr - =)
i) e =@ IAYS g @ qTE AT |
TTET: 9iEm dR aearguaeerd |
At GShRNUAT : T AT Ut |

JUYHAT AEa™ Jaal: TR |
i) ¥ AW TR IRy |
TATITEEE T TUTRIEINTEE el |
gatgegadr gan i ag-easnfaen femr)
AT AEUTGEHE A e deedn: W |
iii) IR T FeTEYTEEd |
A ted HEUTtie FesE|
+ft: Wi: unel wEveTE gEd ufturer|
ATAAHTIG TEAGLEH TEraera | |

02) Explain with reference to the context any two from section 'A' and any

two from section 'B' . [20]
‘& farumTreter sroeTdl S 9 @ fAWRTT e ShIvTEE e Hewieg FIEeRtun
.

SECTION - 'A' (Rwmr - ‘&)
i) TS Y |
ii) gawwafy g gt siaan)|
i) YEEE TUIYE TSRS |
SECTION - 'B' (fRww - ¥
i) egemE T wer TeETsEEq)
i) o wy fgdtan @& fgdamemg wum|

iii) g g aunfu sFRfeefushie 7T aratd | |
[4863] Ext. - 27 2




Q3) Write the summary of the lesson. ToTfHerTferer: [20]
ruTtaerETiereRR:” =t areen | foreT.
OR / feran
Write story of ‘grigamey’|
FTitgEwrey g werm ATuedn vsara forar.

Q4) Write the summray of the lesson. ‘WrgqgR’ [20]
“Argggm’ = ureTen T ot
OR / Teran
Explain any four types in ‘&reasmefaqrg:” with examples.

“HTSIITEATIATE: IT UTSd el iUl TR TehR |IETEI0T TUY .

Q5) Write notes on any two of the following. [20]
WA eTdeh! ShIvTeTa! argier faraere aftese forer.

1) Tsud=H|
1) THIEUM|

iil) RrTeRa: suew:|

®E R
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Total No. of Questions : 5] SEAT No. :

P1022 [Total No. of Pages : 4
[4863]Ext. - 28

EF.Y. B.Com.
ARABIC (General - 1)
(a) Grammar (b) Prose

(2013 Pattern)

Time :3 Hours] [Max. Marks :100

Q1) Translate into English/ Urdu/ Marathi any two of the following passages:[20]

. \~ 2
. ’iu, ]wwmf(g_s)\)

LA NG ,_Au,x_;z;:‘@\__;\;u
SRR P I M
U N D e
- L)u—ﬁ\_;)\\o-—uu——aﬂj—'—ﬁ-w G—”
Lf*—}\bb—»&s-—a:@\u_._\\_‘;u w__H
—M\PWU’“M\WH
\_\Z\AQBJLJ\Q_%\_A - 053 u\a/Q__;)

O‘)\_._e o—vix}-c\_o_)\_»\_g \)—9 ) e

@)_I“}J\\rowowugj_;a
MJJMMA__&M ’&“HLJ—L

PTO.



WA\Mﬁ”w\dsuMw
Lﬁ,ﬂg——m.sqa_ﬂ;—“—’ =\ :f uk‘\ \L

\)\é/\__,u;h\\_hﬂpds, B\d

tj;?ébgsl’;@gme\&\a(@ '

L——:Z.B \pps-ﬁw\o)\ L‘g;;_;t;;

Js ij\ug_,g\&_bw\ (sl

)_Ja_n -JLQJL_&A\OMA@\_\Q\W

c.\& W/J‘J er—f—‘J?s\_;.ku_:s E__Q_LQ,_J‘
__%q__u_\s\,s Afa Ly SR

U—g%ﬁf d—‘QJ—M’)M\C_SﬁJL._aU\

- U5 Lo G yan 5 20 s 4

= \A\9M\UJL5PLMJ\‘JQM

02) Translate and explain any four verses of the following : [20]
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03) A) Translate into English any four of the following : [15]

-_ OMM\/W_)\@,> . @

Mww C:L,ULD ®

.= \..:’_.fsoé,_\\ ®
— Qs%wu/@m._mv [6

_Qyw&s\wd\/c\&’b&&’-/b O
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03) B) Translate into Arabic any four of the following sentences : [15]
i)  On the window there is a curtain.
i) The new teacher is a tall man.
i) My father is in his room.
iv) The boy is bright.
v) Inthe fridge there is a apple.
vi) He look him to the school.

04) Define and illustrate any two of the following grammar : [15]
OJEU‘;L\M@@J{Q;?;@\EQ\,&M!@
05) A) Summarise any one of the following : 5]
- ROTEINE NSRRI

B) Write in Arabic term any one of the following : [5]

SO U@t st ()

C) Write a letter in Arabic to the Company or Bank Manager : [5]
- X Y - i s / (
. o i g | . S / M u\]-' ‘ b G A
%) J/J /d ) Al . [l |
5 » g L
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Total No. of Questions : 7] SEAT No. :

P1001 [Total No. of Pages : 5
[4863] Ext. - 4
F.Y. B.Com.
104-A: BUSINESS MATHEMATICS AND STATISTICS
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Use of Statistical tables and calculator is allowed.
4) Symbols have their usual meanings.
5) Both the sections should be written in same answer book.

SECTION - 1
Q1) A) Answer the following multiple choice questions by selecting correct
options from the given option (Any Four) [4]
a) The HCF of 120 and 216 is
i) 36 i)y 24
i) 12 iv) 48
b) Simplify 47
ol 1
Y D 64
1 1
16 M) 3
c) Findxif10:16::x.:8
) 5 i) 10
i) 8 iv) 16
d) The LCM of5 and 13 is
)y 75 i) 65
i) 95 iv) 85

PTO.



e) Ifs*=s*xs’thenx=
) 8 i) 6
i) 2 iv) 4
f)  50% of 40 is
)y 10 i) 20
i) 30 iv) 40
B) Answer the following multiple choice by selecting correct options from
the given option (Any Three) : [6]
a) The value of (10)"° +(10)'* is
i) 4 i) 10
iii) 10000 iv) 100
b) A, B and C invested Rs. 30,000, Rs. 20,000 & Rs. 10,000 in the
business respectively. If they realised a profit of Rs. 12,000. The
share of A will be Rs. :
i) 4000 ii) 6000
i) 8000 iv) 10,000
Find the value of LI
c) ind the value o o 24 8§ —
.8 8
Y R
5 4
o Mo
d) Ifxiyy=5:7andx=30theny= :
) 25 i) 60
i) 42 iv) 35
02) Attempt any Two of the following : [10]
a) Explain the terms Bonus shares and Equity shares.
b) Manisha purchased a Washing Machine costing Rs. 15,000 taking a loan

from Canara Bank for 3 years at rate of 12% p.a. compound interest.
Find the EMI by reducing method? (Given (1.01)** =1.4307669)

c) A certain sum amounts to Rs. 10,000 in 4 years at the rate of 8% p.a.
simple interest. Find the sum.

[4863] Ext. - 4 )



03) Attempt any Four of the following : [20]

04)

a)
b)

c)

d)

What is ‘Sampling Method’? Explain the types of Sampling.
Explain the scope of statistics in Economics & Management.

Two companys have shares of 12% at Rs. 124 and 16% at Rs. 145. In
which of the shares was the investment be more profitable?

What sum will amount to Rs. 2,000 in 3 years at 6% p.a. compound
interest?

The following is the frequency distribution of marks obtained by some
students.

Class Int. 10-19 20-29 30-39 40-49 50-59 60-69 70-79
No. of students 8 15 20 30 16 7 5

i)  Find the class boundaries of 3™ class.

ii)  Find the class mark of 5" class.

iii) Find the class width of 2" class.

iv) How many students have scored less than 50 marks.
v)  How many students have scored more than 60 marks.

Draw a histogram for the following frequency distribution.
Class Int. 0-10 10-20 20-30 30-40 40-50 50-60
Frequency 3 12 20 24 10 6

SECTION - 11

Attempt any three of the following : [15]

a)

b)

A T.V. set costing Rs. 18,000 was sold for Rs. 15,500 after two years.
Find the percentage of loss?

An agent was paid Rs. 30,000 as commission on the sale of vehicles. If
the rate of commission was 10% and the price of each vehicle Rs. 15,000.
How many vehicles did he sold?

What is LPP? Explain the steps in formulation of LPP?

[4863] Ext. - 4 3



d) Solve the following L.P.P. by graphical method.
To Minimize the cost= f =25x+30y
Subject to ,
4x+3y =60
2x+3y=36
x>0
y>0

e) At what price should goods costing Rs. 48,250 be sold through an agent
so that after paying him a commission at 3.5% on sales, a net gain of
20% should be made?

05) Attempt any THREE of the following : [15]

a) A company manufactures two types of toys A & B. Each toy of type A
requires 2 minutes of cutting & 1 minute for Assembling. Each toy of
type B requires 3 minutes for cutting & 4 minutes for Assembling. There
are 180 minutes available for cutting & 160 minutes for Assembling. On
selling a toy of type A company gets a profit of Rs. 10 & that on selling
a toy of type ‘B’ company gets a profit of Rs. 20. Formulate the above
problem as L.P.P. to Maximize the profit.

b) A man sold two machines at Rs. 990 each. On one he gained 10% & on
the other he loses 10%. Find the percentage of profit or loss in the total
transaction?

c) Calculate the S.D. and C.V. from the following data.
14,8, 11, 10, 13, 16, 5,9, 12, 2.

d) Explain the terms Positive & Negative correlation with suitable examples.

e) Calculate Range and Coefficient of Range from the following data :
100, 24, 14, 105, 21, 35, 106.

06) Attempt any Four of the following : [20]
a) What is Index Number? Explain the various types of Index Number.
b) Calculate the variance for the following frequency distribution.
Class Int. 40-45 45-50 50-55 55-60 60-65
Frequency 13 12 25 35 15
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c) Compute Spearman’s Rank Correlation Coefficient.
Sr. No. 1 2 3 4 5 6 7 8
Judge A 7 6 2 4 5 3 1 8
Judge B 5 4 6 3 8 2 1 7

d) Calculate Mean, Median and Mode from the following data.
52,8, 45,59, 45, 62, 66, 5
e) Write a detailed note on Sensex & Nifty.

f) Calculate Fisher’s Price Index Number from the following :

Commodity Year 2010 Year 2014
Price Quantity Price Quantity
A 20 8 40 6
B 50 10 60 5
C 40 15 50 10
D 20 20 20 15

Q7) Attempt any one of the following :

a) Calculate Karl Pearsons Correlation Coefficient for the following data.[10]
Sales: (Rs.) 50 50 52 60 64 65 65 60 60 50
Expenses (Rs.) 11 13 14 15 14 15 15 14 13 13

b) i)

OR
Given the following data : [5]
Marks in Maths ~ Marks in English
Mean 80 50
S.D. 15 10

r=0.4
Calculate the marks obtained in Mathematics by a student who
scored 60 marks in English.

What is Regression? Explain the lines of Regression. [5]

* * %
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